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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
 wars franared et e fi
(a) The word ‘scarce’ is closely associated

with the word Timited’.
( Write True or False)
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(2)

(b)- State the law of diminishing marginal
utility.
FEPEA 1S Serarfarer Ritesr fora 1

() The Engel curve for a Giffen good is
( negatively sloped /positively
sloped /vertical/horizontal )
_ ( Fill in the blank )

e TR ee @ |
(IR [ R [ BT [ SRS )
( 19 o1 o 41 )

(d) What is income effect?
oy o e 2

fe) The fall in the quantity demanded of the

commodity, when its price falls is called

paradox. y

_ (Fill in the blank)

T 43 A g™ 20 BEAR s s @@
SRENOE 19 I @

| (TR SR o 40 )

() Give the meaning of market-demand
schedule.
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(3)

{g) What is expansion path?
C O reeTRe Y R

(h) Total cost is the sum of total fixed cost
plus total variable cost.
:  ( Write True or False)
T 7w e {h Wﬁ I[E QAR
ERYP I |
(5@ & o7 ferai )

(i What is the shape of the average
revenue curve under . perfectly
competitive market?

o AfPeRER TwTe 6 WH @IN TIPS

@A ?
() What is marginal rate of substitution?
e afSesms 71 A 2
2. Answer the following questions : 2x5=10
ToR oA T o
(a) What are stable ~and unstable
equilibriums? R R
A7 e SR e 2
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(4)

(b)) Mention any two measures through
which government intervenes in the
market.

IHR TWOFIE I S 2R 9 B @
yiAY 3 Sy 790 |

() State any two assumptions of
indifference curve analysis.

e @1 R R cean o1 Fiord fomi

(d) What is the basic difference between
utility approach and the indifference
-curve approach to-consumer demand
theory?

Torered BIRMIREY cvae Soafiel R
T HIeers @ Remar 1es 99 9y 149
&9

(fe) What is production-function?
AT 2 ' |

3. Answer any four of the following questions :
5x4=20

o] R @ wif¥ e T -
(a) Describe the conéept of opportunity cost
with examples.

TR ST SCAN51-I AREICHT I 3947 |
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(5)

(b) “A higher indifference curve gives higher
level of satisfaction.” Explain with the
help of a diagram.

‘o T RRET AR O we e e 1
foaa sT2rre U 400

{c) Distinguish between fixed cost and
variable cost. '

41 T T RIS TR R L

(d) Draw a long-run average cost curve and
explain its nature. -

BT TG-T (@41 T T O 2 Ffe
F11

(e)' Brieﬂy state the different types of
returns to scale.

Rftn aore ofore WeR R sqF ToE
41|

() What does the law of variable proportion
indicate? Discuss in brief.

AR SereRiRe R et 7 LT
ST A1 |
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(6)

4. Answer the following questions : 10x4=40
TR 2PIARY ey fir

(a)

(b)

20A/369

Explain how scarcity and choice lead to
economic problems. 10

o WF owed R WA R R
T, 0 3]

Or/ 9«1

What is equilibrium? Describe static,
comparative  static and dynamic
equilibrium. 1+(3+3+3)=10
ST SRE A ﬁf? &=, pemgere
&S e i STy s 31 47 |

Explain the concept of consumer’s
surplus with the help of cardinal utility
approach. 10

SeR  TFed R ’I‘{W tﬂmﬁﬁ
R s2rre Tram 4 |

Or / J<[1

Describe consumer’s equilibrium with
the help of indifference curve. 10

ﬁ«wmwtﬂﬁwwa‘fm
9|
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(7)

(c) Explain how least cost combination of
inputs is attained with the help of
isoquants and isocost lines. 10

T @Y WE AT @R e M
JH IR RS AR FRI @ T,
T 40

Or/ J%41
Describe the economies and

diseconomies of large-scale production.
5+5=10

TRAIA e fsafiel s Seieriz
a1 341 |

(d) Explain the relationship between
average revenue, marginal revenue and
price-elasticity of demand. 10

S W, 2T WH WE TR 1-Fogeeed
& =0/ 00 91 |

Or / 9]

Explain how profit is maximized with
the help of revenue and cost analysis. 10

o WE 9 RemEr e T [WE Tl
9 W, [ A
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